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Příklad 1
Pumping lemma

Rozhodněte, zda jsou následující jazyky regulární, nebo nejsou

• L1 = {aibi | i ≥ 0 ∧ i ∈ N0}
• L2 = {wwR |w ∈ {a, b}∗}
• L3 = {aibj | 0 ≤ i ≤ j ∧ i, j ∈ N0}
• L4 = {aibj | i > j ≥ 0 ∧ i, j ∈ N0}
• L5 = {aibjck | i + k = j ∧ i, j, k ≥ 0 ∧ i, j, k ∈ N0}
• L6 = {aibi | i ≥ 2 ∧ i ∈ N0}
• L7 = {aibj | 0 ≤ i ≤ 2j ∧ i, j ∈ N0}
• L8 = {aaw |w ∈ {b, c}∗ ∧ |w|b = |w|c}
• L9 = {ai2 | i ≥ 0 ∧ i ∈ N0}
• L10 = {aibj | i ̸= j ∧ i, j ≥ 0 ∧ i, j ∈ N0}
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Příklad 1: Nápověda
Pumping lemma

• u1 = apbp, k1 ̸= 1, k1 ∈ N0

• u2 = apbbap, k2 ̸= 1, k2 ∈ N0

• u3 = apbp, k3 ≥ 2, k3 ∈ N0

• u4 = apbp−1, k4 = 0
• u5 = apbp, k5 ̸= 1, k5 ∈ N0

• u6 = ap+1bp+1, k6 ̸= 1, k6 ∈ N0

• u7 = apbp, k7 ≥ p + 2, k7 ∈ N0

• u8 = aabpcp, k8 ̸= 1, k8 ∈ N0

• u9 = ap2 , k9 = 2
• u10 = apbp+p!, k10 = 1 + p!

s , s = |y|, 1 ≤ s ≤ p, s ∈ N0
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